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24, Write the corresponding system of equations.

¥+1=5
b—y==x
xty=25

y—4=3 ’Q\Lt

Solve the fourth equation for y.
y—4=3
y—4+4=3+4

y=1
Substitute 7 for v in the second equation and
solve for x.
S—y=x
5 —T=x

—2=x

A possible solution 15 (—2, 7). Check whether this
solution =atisfies the first and third equations.
Substitute —2 for x in the first equation.

¥+1=5
(-2R+1=5

4+ 1=4true
Substitute —2 for x and 7 for y in the third
equation.

x+y=5
—2+7=5
5 =05 true

The solution is (=2, T).
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15. Impossible; the matrices have different
dimensions.

18. 5[0 —1 7 2] + 3[5 —8 10 —4]
= [B(0) &(—1) B(T) 5(2)] + [3(5) 3(—8) 3(10) 3(—4)]
=[0 —5 35 10] + [15 —24 30 —12]
=[0+15 —5+(—24)35+ 30 10+ (—12)]
=[15 —29 65 —2]_

4(—2) 4[4| 4(1)
1] 5
43) 40 42
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24(-8) 0+3 5+4}
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' -5 2 -1 -4 -1

“':AB’=3(|41 _§| 43 \?/;L
i 01 1 2 7]_[-1-4-1
- i of |1 5[
‘ _a2g —12 The coordinates are X'(—1, 1), Y"(—4, 2), and

28, Yes; c{AB) = A(cB) for the given matrices. 18 [ 1 2 '?:|

Z0=1,7)

—24 51
; 20. 71 1Y P”g/e
1 -2 -5 2
w1 2] (o 2 2]
s 3/'\3 4 3 b /Q7
=‘1—2H—15 6 /
4 3 12 9 /
_[-39 —12 -
_‘—24 51 = g
olx X
= Z
| 2T \[ A
=
25. Let (a, b), (¢, d), and (e, f) represent the original Y

vertices «f, K, and L.

0 -1 fa ce|_|-3 -2 1
1 ol |6dfl7|-5 74

b —d —f] _[-3 -2 1

a ¢ ¢ -5 T 4
Thus,b=3,d=2,f=—-1,a=—5,c=17, and
¢ = 4. The coordinates are JJ(—5, 3), K(7, 2), and
L4, —-1).

M= s - ~1
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M(ﬁé

1 5 —4 2 x
3 2 7 2 —7 3 39. det =24
3. -7 3 2 =1‘3 3 —5‘ - +c—4:‘ 6 3‘ b —3
6 3 —1 2A—3) —xl5)=24
=1{—-3 —6) — 5(7 — 12) — 4(—21 — 18) —6 — Br =24
= 1(—8) — 5(—5) — 4(—39) —5x =30
=-9+25+ 156 x=—6
=172
1 -1 -5 1 -2 -1
5 2 Ls 1 5 -2 1 2 5
o ;o - 4 1 -1
_ 33 BE 8 s-=—i i L)
22.:‘—T §=17 3 1 1 -2 -§ 1 -2 -5
3 5 —
o s 1 1 3 _a 1 2 -2
21 21 & 1 1 4 1 1 411
o-3) -3 19— 5f3) -= - -5
S = 2 a1 o ™
A=z - 33) A=3)-33) =i -2 =1
_:"[.32 53) i"l_:lz" 53/ BT T T
10 a . . [ 11 39 14
- = . The solution is | —33, 1g, —ﬁ)-
a0 an
=3 =10

The solution 1s (3, 10).
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12.A-B=

(971

G (19

27. Find the determinant.

-2 0
5 6

6—5 6-—8 Inverse exists.
Hh—5 H—6 1 d —b
- ad — be| —e

1 0
0 -1

No; the matrices are not inverses, since A - B # I.

LS

/%“?/iﬂ. Write the matrix equation for the system.

1 2] [=]_[s
3 2| |y| " |6
Find the inverse of the coefficient matrix.

1_ 1 2 -2
A _z—s[—a 1}

_ 1| 2 -2
4| -3 1

Multiply both sides of the matrix equation by A~
_af 2 -2] [1 2] [=]_ 4| 2 -2] [8
i1-3 1 3 2f |v] -3 1 6
1 0] [«]_
01 |

o a
The solution is |L—l1 E,l'

31. Write the matrix equation for the system.

4 -3] [«] _[5
2 of |yl |s
Find the inverse of the coefficient matrix.

1 _ 1 9 3
A w16 | -2 4

-1 93
2| -2 4

Multiply both sides of the matrix equation by A 1

1| 9 3| |4 -3 |x|_1| 9 3| [5
21-2 4| (2 9] |y 21-2 4| (6
10.-I-=L63
01 ¥ 42| 14

- [}

&5 |1 b |63

.. (3 1)
The solution is 5, 3 |

a

|

—2(8) — DIE)

1

12

‘=—12—00r—12

1

|

G
—5&

0
—2
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Since the determinant is not equal to 0, the
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